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14/06/18:
Slitherlink (Toroidal) by Bram de Laat

Theme: Clue Symmetry and Logic
Rules: Standard Slitherlink rules, except 
that the edges of the grid wrap around. 
The top row of dots is the same as 
the bottom row of dots; the left column 
of dots is the same as the right column 
of dots. The loop can now run across an outer edge and continue on the other side.
ANSWER ENTRY: Enter the size of each group of connected squares in the
marked rows from left to right; in the example, the bottom row would be 112.
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